c) F'ndn,lfS"P4 3(*'Py)
d) Find the sum of numbers between 100 to 400 which are exaeﬂy divisible bv 4.
¢) 1fA=[2 3],ﬁndA + Ay

OR

Q.1 Attempt the following: . (S X 4=20)

p) Using truth table , prove that ~ (pv q =
q) Calculate the time for which, interest
the amount at 10% simple
r) Find the number of distinct pern
COMMITTEE.
s) Find 3 terms of an A.P. whose sum sl&ad%mlsm

) If M= [0 g] find 5M + 21 where I'is theoniitiisie of order 2.

Q.2 Attempt the following: (5X4=20)

a) Find the amount of an ordinary annuity with periodic payment as of ¥ 1200 p.a.
for 3 years at the rate of interest 10% per period on quarterly basis.

b) Solve using Cramers’s rule the following equations

2x—3y=8 and 3x+y=S5.



¢) The universal set X = {x/x is natural number less than 11}
A={1,2,9} and B = {1,3,5,9}. Verify (AN B)*=A°UB®.

d) Find 3 numbers in a G.P. whose sum is 26 and the product is 216.

e) If 5 °p, ="C, find the value of n. '

: OR
Q.11 Attempt the following: (5X4=20)

p) Mr X invested ¥ 100 in the first month and then triple his investment every
month for 11 months. Find his last investment and the total investment over 11
months. :

g) Using Cramer’s rule, solve the following equations.

2x +3y =8, 4x-Sy~=l.

r) Out of total 200 students appearing for a test, 140 passed in Mathematics and
100 passed in Statistics. If 50 of them failed in both Mathematics and Statistics,
find the number of students who have passed in both by using venn diagram.

s) The third term of a G.P. is 12 and the sixth term is 96. Find its first term and the
common ratio.

t) A club has 4 boys and 5 girls. A committee of 2 boys and 3 giris is 1o be formed.

In how many ways committee can be formed if
i) A particular boy is to be included
ii) A particular girl is to be excluded ?

Q 3. Attempt the following: (5X4=20)

a) Construct the truth table for [p A (p— @)]—q-

b) A and B are two sets. Given :- n(A) = 40, n(AU B) = 60, n(AN B) = 10. Find
n(B).

¢) Ramesh invested in an annuity with half- yearly period for 4 years at the rate of
interest of 8% compounded half-yearly. If he received X 27642.68 as the
maturity value, what is his periodic payment ?

d) If "Cs="Cs, find the value of n.

e) Jack invests ¥ 10000 in the first month and increases his investment by ¥ 500
every subsequent month. What will be his total investment at the end of 1
years?

OR
Q III. Attempt the following: (5X4=20)
p) If A= {1,2}, B={2,3}, C ={2,3,4}. Veiily that AN (BUC)=(ANB) U (ANC).
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x 2 4q
q) Find xif |3 0 1|=0.
4. 5. ]

r) Find the amount of an annuity of % 6000,
years, the interest rate being 8%, compou ly.

s) A 5 digit number is to be formed using the 2 0 to 9. How many such
numbers can be formed if the repetition digits is allowed .

D) A sum of 72800 is to be paid in 6 monthly i such that each
instaliment is three times the previous installment Find the first and the last
nstaliment.

Q 4. Attempt the following: (5X4=20)

a)MhWMmﬂMl“uﬁthoompmmded
monthly.[| Given:- log 10,000=4, log 151=2.1790, log 150=2.1761, antilog
4.0696=11740]

b) A gold bar worth 315000 appreciated at the rate of 12% per year. Find its value
at the end of 3 years.

¢) How many words can be formed from letters of the word KEYBOARD, so that
it begins with a consonant and end with a vowel.

d) Findthesum 1+ 11+ 111 +... up to n terms.

payable at the end of each quarter for 2

e [I 2] dB = [3 2] find the product AB and BA
e) L g an t a4 n € produc an z
OR
QIV Attempt the following: (5X4=20)

p)Meena is promised the final amount of half yearly ordinary annuity with
periodic payment of 1600, the duration of the annuity being 3 years and the
rate of interest is 10% to be compounded half-yearly. Find the present value
of the annuity.
q) A committee of 4 members is to be formed from 5 professors and 7 students. In
how many ways this can be done, if the committee contains
i) Exactly 3 professors
ii) At least 3 professors.
r) Calculate T, and S, of the sequence 3,7,11,15, ... . Also find T,. »
s) Find the sum borrowed by Naresh from a bank on compound interest of 6% per
year, to be calculated annually , if he had to pay back ¥ 26,460 after 2 years.

# If p= [§ ‘02] find the matrix P* - 3P,
i END




